BC3

BC3

Figure S1

1 2 3
80 Kda -
BIP
31Kda- = = == CHOP
115 Kda - HSP90
80 Kda -
1 2 3
50 Kda - B
31 Kda -
50 Kda -
ERK
31 Kda -
50 Kda - Act
31 Kda -

BCBL1

BCBL1

240 Kda -
115 Kda -

B0KIA- | e BIP

31 Kda - B CHOP
240 Kda -
115Kda-  pepg
80 Kda -
50 Kda -
-ERK
31 kda - :
50 Kda -
31 kda - S
50Kda- _ __ __ o
31 Kda -



BC3

1 2 3 4
50 Kda -
31 Kda - CHOP
50 Kda - | 0-ERK
31 Kda -
50 Kda -
ERK
31 Kda -
50 Kda -
ACT
31 Kda -

Figure S2

BCBL1

1 2 3 4

50 Kda -

31 Kda - CHOP

50 Kda -

31 Kda - AL

50 Kda -

ERK
31 Kda -

240 Kda -

115 Kda -
80 Kda -

- e HSP 90



BC3

BC3

240 Kda -

115 kda -
80 Kda -

50 Kda -

50 Kda -

31 kda -

50 Kda -

PARP

y-H2AX

p53

p21

p-ERK

ERK

ATF4

CHOP

ACT

Figure S3

BCBL1

BCBL1

240 Kda -
115 kda - PARP
80 Kda -
27 Kda - y-H2AX
15 kda -
o - :
27 Kda -
p21
15 kda -
50 Kda -
p-ERK
50 Kda -

ERK

50 Kda - | === == ws ATF4

31 kda - CHOP

50 Kda - ACT




1 23 456
s0Kda- | 3 - -
. - - -
31 Kda - . o
50 Kda

- o HSP90
80 Kda /i es f eme e a8

62 kda

50 Kda -

50 Kda - i ACT

31 Kda -

Figure S4

50 Kda-|

o e

50 Kda - 053

-
50 Kda - ju
- "

B

240 Kda -
115 Kda -

80 Kda . S ACT

62 kda -

ACT



